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W . ATMEIFIBFEE B 6 % -4 oL ATTEIETEE AL 5 % e
BOAL: FH (BLAA)
LT 3 %=

s H FEEH | B £ | & & % 1E Hh = FTEEM | B L = Z (E
IR = B 10 ke 864 — || A 10 ke 4,104 1,512
A WA & [ 200 g 108 64 | WEMA = IR 10 ke 2,160 —
LA & R 200 g 108 64 | »LC E & 10 ke 7,560 2, 160
ZED & [ 200 g 86 54 | T AHLE— = B 270 ¢ 486 216
T 5 NAE D = B 200 g 81 64 | DHDH = B 270 ¢ 540 270
HFh& o Fn 150 ¢ 64 — | EEREE = B 270 g 648 324
LA X< FORR L 150 g 86 64 | T—NRAT Y = 9 kg| 19, 440 12, 960
AN m B 10 ke 864 432
TEREIZ A DA 5 IF 10 ke 1, 080 648
< =W FOEk L 12 ke 756 —
XY T A 10 ke 864 648
LA A B 10 ke 4,320 2, 700
o E 5 ke 1,728 1,296
Ao R = En 5 ke 1,944 1,728
F< k RE K 4 ke 2, 592 —
B A 150 g 54 48
TR Lk JbumE 10 ke 2, 808 2, 160
mERE AbigE 20 ke 4,536 4, 320
LW B 100 g 183 91
LU ' B 100 g 48 37




m R R R E W S ® 1B 7R @ Kk EBREEKE 47 t

BMH . ATELATESAEE 9 %# bhib [f& 24 t ] [ 9t ] [f5+ 14t ]
B M (BLAAR)
vl i) +

i H EEEM | B | B E & A §] FEEM | B | & E % B
H£E A 7 1 ke 2,376 2,160 | ¥\ F U 1 ke 2,592 972
mEAHE R 1 kg 1, 252 486 || N SN 1 ke 1, 080 432
T AT 1 ke 1,047 216 | ¥ T = = 1 ke 2, 160 972
WA 2 1 ke 723 324 | AN — — — —
AT OB 1ke 1, 155 183 | FU A T E 1 ke 3, 456 1, 080
AN A AT & & 1 ke 1, 728 1,512 | BFH = AbiEiE 11 248 54
EANT w5 1 ke 1, 458 248

&5 A = I 1 ke 1,026 540

&4 = T IE 1 kg 2, 160 1, 620

INE & B 1 ke 1, 080 432

7Y RE A 1 ke 1, 620 594

s =~ B 1 ke 3, 132 1,015

=) REIR S 1 ke 2, 052 1, 188

BT wO#ER 1 ke 1,512 864




